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 IDE (Integrated Drive Electronics)

SATA (Serial ATA)

SCSI (Small Computer System Interface)

SAS (Serial Attached SCSI)

SSD (Solid State Drive)
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 IDE (Integrated Drive Electronics)
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« SATA (Serial ATA)
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« SCSI (Small Computer System Interface)

o B 22| 2 HEE0| 9HE7| 5t M EQ| BEZ QE{THo|A
A

e I AEoAR MEollM AT

o Hx|& FAlol FHY 4 Ug

SCSI (68 pin) Port Power
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« SAS (Serial Attached SCSI)
« SCSIe| &4

-+ 13 MHer AEEZ| HIEQ T ARREIE QIE{H[o|A

SAS Port Power



SATA #z|2} SCSI #z| 4143

i | 3
. HEE| AR A3 FHE
HlEE
1 [o] (L 1= Y ‘ —
e N R, i SCSI0 | e
SATA3 SCSI 3 E DE0 BE  DE1 [ | —— (500MB)
 (Primary) { : (Secondary) ; — swap &7t /dev/sda2 (1GB)
SATA 2 SCSI2 | i feassans
/dev/sda3 (14.5GB)
SATA 1 3CS! 1 IDEO:O|IDEO:1 IDE1:0|IDE1:1 /
N
SCSI10:0 /dev/sda
SATA O SCSI 0 ) /dev/sda1(20GB) _— (16GB)
/dev/sda
— 120G8) e Erolae /dev/sdb (0.1GB)
/mydata Sl g
SATA 01
4@ /dev/sdb
SATA0:2 /dev/srO SCSI0:1 (01 GB)
SCSI02
SATA 0:29
SCSI0:15
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SATA z|e} SCSI AFx| FA

o FHIE| A|AEI kx| TN T (VMWare)
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 H[QIE Eo| SATA Ot &&oll= ZHZ 307H2] SATA %X
« VMWare= SATASE 47HE 2| o SATA x| 1207 7}2| &2t 7t
« SATAL & SATA 0:0, SATAO:1, ... 2 H7|

+ VMWareoi|A{+= SATA 0:10i| CD/DVD7} &+xt=

+ VMWare [Virtual Machine Settings]oilA{ &<l

Virtual Machine Settings X CD/DVD Advanced Settings X

Hardware Options Virtual device node
) @ SATA

Device Summary Device status I - v l
E=IMemory 1GB D W SATA0:1 CD/DVD (SATA)
f;;Processors 1 [Jconnect at power on
[=)Hard Disk (5CSI) 20 GB ) .
©JcD/DVD (SATA) Auto detect Connection s
I Network Adapter NAT (® Use physical drive: :
Cpisplay Auto detec?.“ Auto detect :L o

(O Use ISO image file: .

Browse'-_. |
...................... » Advanced...

SATA 3 SCSI 3

SATA 2 SCSI 2

SATA 1 SCSI 1

SATA O SCSI0
SATA 00

SATAO:1 f f

SATA0:2 /dev/srO

SATA0:29
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SCSI0:0
/dev/sda1(20GB)
/dev/sda
(20GB)
SCSI0:1
SCSI0:2
SCSI0:15
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SATA z|e} SCSI AFx| FA

. 2|2 AkxtE| SCS| C|A

o A

o EE'Z afed! |:|J\=l

3£ /[dev/sd

a,

Z7t2 A2 SCSI oA

LI off =» sda, sdb, sdc,

[dev/sda& TtE|M(=2| &7H

[dev/sdal, /dev/sda2, /dev/sda3,

Virtual Machine Settings X

Hardware QOptions

Device

E=Memory
" .EProcessg

Summary
1GB

[='Hiard Disk (scs1) 20 GB I

() CD/DVD (SATA) Auto detect
1 Network Adapter NAT
l:Dis;:;lay Auto detect

Disk file

I C:AffLinuxiifServerfServer-000005.vmdk

Capadty

Current size: 141.3MB
System free: 124.3GB
Maximum size: 20 GB

Disk information

Disk space is not preallocated for this hard disk.
Hard disk contents are stored in a single file.

Disk utilities

‘., Map this virtual machine disk to a local

.
‘.
‘e
.
.
»

»
.,..
.
e

volume.

IR
e,
-

.
a

Map. '._
Deﬁ'agmeﬂ£
Expand... ",

)
Compact '-,

Hard Disk Advanced Settings

Virtual device node

SCSI0:0

—

/boot

f’\

SCSI 0:0 Hard Disk (SCSI)
0:0
11SCSI 0:1

SCSI0:2

[scs10:3

SCSI0:4

SCSI0:5

SCSI0:6

SCSI0:7 (Reserved)
SCSI0:8

SCSI0:9

SCSI0:10

SCSI0:11

SCSI0:12

SCSI0:13

SCSI0:14

SCSI0:15
SCSI 1:0
SCSI 1:1
SCSI 1:2
SCSI 1:3
SCSI 1:4
SCSI 1:5
SCSI 1:6
SCSI 1:7 (Reserved)
SCSI 1:8
SCSI 1:9
SCSI 1:10
SCSI 1:11
SCSI 1:12
SCSI 1:13

SCSI 0:1

swap a7t

N—
/dev/sda
(16GB)

/mydata

/dev/sdb
(0.1GB)

3£ /dev/sdb, [dev/sdc, [dev/sdd ...2 %

/dev/sdal (500MB)
/dev/sda2 (1GB)

/dev/sda3 (14.5GB)

/dev/sdb1 (0.1GB)
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Linux A|AEllo]| C|A 3 X7}

c|A37F gk A 27t %S (GlA])
« Z7|5t C|A T 0| o|E: [dev/sdb

o TME[MO| =2|o|&: /dev/sdb]

« ‘Imydata’ C|2lE2| k51 o| C|lE2|o|| Ot E

el
SCSI00
SCSI0
SATAO
SATA 0:1
SCSI0:1
/dev/srQ

12! 9-4 C|A3 St F7t

/ /dev/sda1(20GB)

/dev/sda
(20GB)

/mydata /dev/sdb1 (1GB)

/dev/sdb
(1GB)
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Linux A|A&of £|A3 X7}

. C|A3 27} BEL
+ LinuxollA}E 8EE C|A3 (EL SSD) &2} & 2744l

22| sler|AT A&

SCSI 0:1
/dev/sdb
slEC|AT
Jetc/fstabOi| 5
= - /mydata

72 9-5 ClAS SHLIE FUI3 0| M| 58

/dev/sdb1

slecjAz

- I AAR Y

/dev/sdb1
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« VMWare°||A& StE C|A 3 Gl 27}

"1, VMware Workstation 15 Player

> Play virtual machine

‘e
.
..
.
e
“a.
-
.........

» E Edit virtual machine settings
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2
H

« VMWare°||A& StE C|A 3 Gl 27}

Hardware QOptions

Virtual Machine Settings

Device Summary
E=lMemory 1GB

f:;; Processors 1
[=)Hard Disk (5CSI) 20 GB

(=) CD/DVD (SATA) Auto detect
Y Network Adapter NAT
[Clpisplay Auto detect

snsEn,
‘.-"' .
L)
B
B
-
.
.
.‘

Memory

Specify the amount of memory allocated to this virtual machine. The

memory size must be a multiple of 4 MB.

Memory for this virtual machine: 1024 % MB

Add Hardware Wizard

Hardware Type

What type of hardware do you want to install?

Hardware types:

Explanation

[ |

Floppy Drive

| Add a hard disk.
CD/DVD Drive

< Back Next >

i

[ Remove

[ Cancel

OK | ’ Cancel

Help
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Linux A|A&]of| C|A

3 274l

2
H

VMWareo||A GtE C|A 3 StLf &7} — SCSIE &7}, disk size AEH

Add Hardware Wizard X

Select a Disk Type
What kind of disk do you want to create?

Virtual disk type
(@) 0)3
I ®5SCSI (Recommended) I
(O sATA
OnNvMe

Add Hardware Wizard X

Specify Disk Capacity
How large do you want this disk to be?

Maximum disk size (GB} =

=] te

Recommended size for Ubuntu 64-bit: 20 GB R

[Jallocate all disk space now.

Allocating the full capacity can enhance performanté but requires all of the physical
disk space to be available right now. If you do nojallocate all the space now, the
virtual disk starts small and grows as you add .d,:ia toit.

I (®) Store virtual disk as a single file I A
(O split virtual disk into multiple files

Splitting the disk makes it easier to move the virtual machine to another computer
but may reduce performance with very large disks.

Virtual M

achine

Settings

Hardware Options

Device

Summary

E=Memory 1GB
f;} Processors 1
£-3Hard Disk (SCSI) 20 GB

NewHardDisk(SCSl’) ..u-----.......ﬂ

*) CD/DVD (SATA) Auto detect
C3Network Adapter NAT
[lpisplay Auto detect

Disk file

Server-0.vmdk

Capacity

tee .Cprrent size: 192KB
System Tree 424.1G8
Maximum size: 1 G'B~

Disk information *e,

Disk space is not preallocated for'thls hard disk.
Hard Disk Advanced Settings ents are storedin a s'hgle fle.

“
Virtual device node ".'
| SCSI0:1 New Hard Disk (SCSI) v I palmachine dsk oalocal 5, 1 R
— - ."
files and consolidate free space. 'EE Defragment
[ ok | ’ Cancel ,  Help } )
5 EXpand isk capacity. [ %, Expand
Q

Compact disk to redaim unused space. [
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« fdisk [&41] SIEC|AIAFR|otY root@server: -

= oI(F) HE(E) 22I(v) ZA(S) HOE(T) =SH(H)
root@server:~# fdisk /dev/sdb

Changes will remain in memory only, until you decide to write them.
Be careful before using the write command.

- THES| EfY 7

AL
i
In
L
N
o
-T
N
N
o
-

i}H Device does not contain a recognized partition table.
(o) Created a new DOS disklabel with disk identifier ©x6a85bf8d.

n
o
o

Command (m for help): n

- - - - Partition type
[ UI‘ H'IO‘” UI‘LI’_O_l El }\ q O‘" EHUH}\"DI- ZI-O-l —}I\—.Gl'I p primary (0 primary, 0 extended, 4 free)
- L - L 1 d o e extended (container for logical partitions)
Select (default p): p
Partition number (1-4, default 1): 1
° E.||:||L-|o.”*-| EI-QJ‘I_l. 7|-o| olgq First sector (2048-2097151, default 2048):
= | E H A Last sector, +sectors or +size{K,M,G,T,P} (2048-2097151, default 2097151):

Created a new partition 1 of type 'Linux' and of size 1023 MiB.

. Command (m for help): p
# fdisk /deVISdb Disk /dev/sdb: 1 GiB, 1073741824 bytes, 2097152 sectors
. Units: sectors of 1 * 512 = 512 bytes
Command: n Sector size (logical/physical): 512 bytes / 512 bytes
. I/0 size (minimum/optimal): 512 bytes / 512 bytes
Select: p Disklabel type: dos
Partition number: 1 Disk identifier: ©x6a85bfsd
. Boot Start End Sectors | Size
First sector: 2048 2097151 2095104
Last sector: tw
The partition table has been altered.
Command: p Calling ioctl() to re-read partition table.

Syncing disks.
Command: w

root@server:~#

« M2 utE[M o|&: /dev/sdb]
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3 27 4%

. ME Tt - fdisk

e fdisk =M 4|+

Command action command action

a SEIOEIE &4 p S £8E IIEl® EBE BEHS
AANE M2 E HEGHA ¥ fdisk
A H AN =
C 0I2E Jisst IIE|l8 4 3 S SUN ClA3ctels MM
d IWE| & AFHI t IE|ME Etgls HA
I Hd8Jlss IIEIE B2 BENHS u S HdEE ZE6tHL HE s
m LeEl@ €8 =32 Y ANEE IEIE S A
— SMIKl &&st HIEIREEE N
2 A2 MA Z

: MES TS W X5t fdisk= iR L2+
o) T A IIIEIE HIOI=2 MH X IE|E &8 MEJBEZ S
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: 2 7L AlA
Linux A| AR ClAT 71 AlF
SCSI 0:1
/dev/sdb ofed
o I A|AEN MM - mkfs
/dev/sdb1
+ mkfs [&4] [THUA A SH] Flo|E
sl=ciAs =]
« SIE ClA3 Q| tE|MZ Linux It A|AEIC 2 OFE7| Tl AAE A
[etc/fstaboi| !
L E= /mydata
e # mkfs -t extd4d /dev/sdbl E—=
/dev/sdb1

T2 9-5 C|AT LIS Foiet A2 TH| 28

e # mkfs.extd4 /dev/sdbl

root@server: ~

otel(F) HE(E) =7I(v) BM(S) HOIE(T) =SE(H)

root@server:~# mkfs.ext4 /dev/sdbi

mke2fs 1.44.1 (24-Mar-2018)
Creating filesystem with 261888 4k blocks and 65536 inodes

Filesystem UUID: a458eb81-2957-4bc8-a3f9-b2f9a9bff547
Superblock backups stored on blocks:

32768, 98304, 163840, 229376

Allocating group tables: done

Writing inode tables: done

Creating journal (4096 blocks): done

Writing superblocks and filesystem accounting information: done

root@server:~#

20



Linux A|AElo|| C|A3 27}

Al
=

2
H

« ClalE2|of O}-2E — mount

- 02 EY ClHE2| A/ (BE[H E2[F: mydata) /A BESE
o i /dev/sda1l
# mkdir /mydata s
« HAESR mlZ Sl EA} /mydata CI2E{2]
* # /boot/vmTab /mydata/filel file1
* # 1s —-al /mydata /dev/sda
(20GB)

712! 9-17 O}2EXL|7| 0|Fe CIAT LI

root@server: ~

opQI(F) HE(E) 221(v) BA(S) EHOIE(T) =S2(H)
root@server:~# mkdir /mydata

root@server:~# cp /boot/vmlinuz-4.18.0-15-generic
root@server:~# 1ls -1 /mydata

A 8344

-rw-r--r-- 1 root root 8543992 78 20 22:20 filel
root@server:~# l

ofx| ofREEIX| g

/dev/sdb
(1GB)

/mydata/filel

/dev/sdb1

(1GB)

21
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« C|HEZ[o Of2E — mount

* [dev/sdb1 #2|E [mydata C[2l E2[0]| D2 E /" TEW0l iRES

e # mount /dev/sdbl /mydata
» [mydata C|H| E2] &<l
* # 1s -al /mydata
« [mydata C|HE2|of| E|AEQ mQ] EA}
* # /boot/vmTab /mydata/file?2
* # 1s -al /mydata

- file12] Biet2?

/dev/sdai
(20GB)
/mydata0i| Ot2EH
/mydata C|2E|2]
/dev/sdb1
file1 file2 (1GB)
/dev/sda /dev/sdb
(20GB) (1GB)

root@server: ~

mel(F) WE(E) 221(v) dA(s) HOIE(T) =SEH(H)

root@server:~# mount /dev/sdbl /mydata
root@server:~# 1ls -1 /[mydata

2 root root 16384 7H 20 22:18 lost+found

root@server:~# cp /boot/vmlinuz-4.18.0-15-generic /mydata/file2
root@server:~# 1ls -1 /mydata
g A 8360
--r-- 1 root root 8543992 7& 20 22:24 file2
2 root root 16384 7& 20 22:18 lost+found
root@server:~#
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« UOLE (PZ3HA|) — umount
 [dev/sdb12| O} E 5fj7]|
* # umount dev/sdbl
. filel2] S5 gl

* # 1s -al /mydata

> 02 E /52 cl|alEz| L xfo| Bi7{E]

r— L O O

/" TE|H0]| DIREE

/dev/sda1
(20GB)
OIRESIX| 242
/mydata C|2lE{2]

/dev/sdb1
el fle2 (1GB)
/dev/sda /dev/sdb
(20GB) (1GB)

root@server: ~

oH(F) BE(E) 22I(v) BHM(s) HOIE(T) =SE(H)
root@server:~# umount /dev/sdb1l
root@server:~# 1ls -1 /mydata

Al 8344
-TW-r--r--

1 root root 8543992 7# 20 22:20 filel
root@server:~#
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YHIMo = OrZE T BEO| 2%elo| RS > A5 22 0fE A

HA

[etc/fstab Tfo]| of2f| Li-§-& F7I5toq AHELR/TIoIE 2522 Ot EE

/dev/sdbl /mydata ext4  defaults 0 0

*
o) fstab

E71(0) ~ HZEH(S)
# [etc/fstab: static file system information.
=
# Use 'blkid' to print the universally unique identifier for a
# device; this may be used with UUID= as a more robust way to name devices
# that works even if disks are added and removed. See fstab(5).
#
# <file system> <mount point> <type> <options> <dump> <pass>
# | was on /dev/sdal during installation
UUID=ab20eecb-b051-4aef-9dd5-ca6ea5393b39 / ext4 errors=remount-ro 0
/swapfile none swap SwW 0
/mydata e efault \
QUULEIAE v E{L14H|:8 v 128,148

X
(1
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- df [EFA3] [TrEA AR 7]

e -k: KB TfQ|2 HA|

. %}ﬁ

« -m: MB GI¢{2 FA|

| 35 EA

ol

-

<l

E

¢ -T: TR A

EHE HA|

.mo

St

g4

7| =

E

of

I.

ud

o -h: A}
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e 2|0l 27} A

. 3]

© ZF ARBRPE AR 4 QT T 8= ARtots A

Jetc/fstab &8 MRS = 2|02 HEl DB M4

7018 e 2H

et Y Pt 4
ordr it 24 1
AuUOla 8= A

O

-
bt

27



AgatollA| 37+ U A

+ ARGAL A

o &L o] AREZ} MM (linux1, linux2)

- H|ZHHT & AP (AHEAF B2 Z24A)

adduser —-home /mydata/linuxl linux1
adduser --home /mydata/linux2 linux2

root@server: ~

OrA(F) ®E(E) E2I(v) ZBAM(S) EHOIE(M) =S(H)
root@server:~# adduser --home /mydata/linuxl 1inux1
"linux1' AFEXIE F71 F...

M 3§ 'linux1' (1001) F7} ...

M AFEXF 'linux1' (1001)

' /mydata/linux1l' =

'Jetc/skel'Of| A{ I}

M unix 2=
M unIx

2.
=
iy s |
(=
X

=
ol
=
Ad
(=]
o A

0

- —
\d =
oo e
-
——

NpA H0E

HEI Stt
root@server:~#
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« [etc/fstab TfU TR

« [dev/sdb1 OF-F ESt= B &of Ct22 27}

/dev/sdbl /mydata ext4  defaults,usrjquota=aquota.user,jqfmt=vfsvd 0 0

Jetc/fstab: static file system information.

-
=
# Use 'blkid' to print the universally unique identifier fbr a

# device; this may be used with UUID= as a more robust way to name devices
# that works even if disks are added and removed. See fstab(5).

=

-

<file system> <mount point> <type> <options> <dump> <pass>
# |/ was on /dev/sdal during installation
UUID=ab20eecb-b051-4aef-9dd5-ca6ea5393b39 / ext4 errors=remount-ro 0 1
/swapfile none swap SW 0 0
/dev/sdb1 /mydata ext4 defaults,usrjquota=aquota.user,jqfmt=vfsve 0 0

YUY EHAE v HLH[:8 ¥ 3%, 59€ v Y
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% cfA| Ot E

* # mount -options remount /mydata

« = mount FF2 2 &Rl [dev/sdbl C|HE2|7} ZE{& o2 Ol EE]

T o7 | 2] 23

-

e # apt-get

-y 1install quota

root@server: ~

Oel(F) HE(E) E2I(v) BA(S) EDIE(T) =S(H)

root@server:~# mount --options remount /mydata
root@server:~# mount
sysfs on /sys type sysfs (rw,nosuid,nodev,noexec,relatime)
proc on /proc type proc (rw,nosuid,nodev,noexec,relatime)
udev on /dev type devtmpfs (rw,nosuid,relatime,size=461252k,nr_inodes=115313,mode=755)
devpts on /dev/pts type devpts (rw,nosuid,noexec,relatime,gid=5,mode=620,ptmxmode=000)
tmpfs on /run type tmpfs (rw,nosuid,noexec,relatime,size=98492k,mode=755)
/dev/sdal on / type ext4 (rw, relatlme ,errors= remount ro)
on /sys/kernel/ = type securityfs (4 maguid,nodev,noexec,re

/var/llb/snapd/snaps/gnome 3-28-1804_67.snap on /snap/gnome-3-28-1804/67 type squashfs (ro,nodev,

relatime,x-gdu.hide)
/dev/sdbl on /mydata type ext4 (rw,relatime,jqfmt=vfsvO,usrjquota=aquota.user)

gvfsd-fuse on /run/user/0/gvfs type fuse.gvfsd-fuse (rw,nosuid,nodev,relatime,user_1id=0,group_id=
0)
root@server:~# I
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Ar2ztof|A| Z7F gt

Al
=

2
H

.+ 2E{ DB A4

cd /mydata

quotaoff -avug

quotacheck -augmn

rm -f aquota.*

quotacheck -augmn

touch aquota.user aquota.group
chmod 600 aquota.*

quotacheck -augmn

quotaon -avug

root@server: /mydata

OH(F) HE(E) R22I(v) BA(S) EHOIE(T) =S(H)

root@server:~# cd /mydata
root@server:/mydata# quotaoff -avug
/dev/sdb1l [/mydata]: user quotas turned off
root@server:/mydata# quotacheck -augmn
root@server:/mydata# rm -f aquota.*
root@server:/mydata# quotacheck -augmn
root@server:/mydata# touch aquota.user aquota.group
root@server:/mydata# chmod 600 aquota.*
root@server:/mydata# quotacheck -augmn
root@server:/mydata# quotaon -avug
/dev/sdb1l [/mydata]: user quotas turned on
root@server:/mydata# 1ls -1

e Al 8376

1 root root @ 78 20 22:58 aquota.group

1 root root 7168 78 20 22:58 aquota.user
-rw-r--r-- 1 root root 8543992 7E 20 22:24 file2
drwxr-xr-x 2 linux1l linux1 4096 73 20 22:48 linux1
drwxr-xr-x 2 linux2 linux2 4096 78 20 23:00 linux2

2 root root 16384 78 20 22:18 lost+found
root@server: /mydata# I
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. AMEANY 37 U

* linux1, linux2 A22}71 AFREH & Ql= 27HS 7H7F 20MBMI BHot

e # edquota —u linuxl

root@server: ~

OH(F) ME(E) 221(v) BA(S) HOIE(M =3E(H)
GNU nano 2.9.3 mp//EdP.aAjyth
Mlisk quotas for user linux1l (uid 1001):

Filesystem blocks hard inodes
/dev/sdb1 28

af 7| I Write Out A =Xt é’af'—w
| o g2 Al HH3 7| ¥ Uncut Text

HM 2 A
HOZ 0|

32



}\I-.g.ZI'O“}" -g—7|_|' ﬁg'%l' AEI% IU(F) BEE) 22I(v) AM4(ES) Holgm

GNU nano 2.9.3

ESE(H)

Bisk quotas for user linux1 (uid 1601):
Filesystem blocks

* Filesystem {dev/5dbi

» AREANE HEE BESHs T AAE

28

N =29 E7I wrlte Out Z A

= L 7| o 87

* blocks, soft, hard

+ A APGAITE ALGOHE B2 (KB THE)), ALE AMG $HE, SIC ARG T

+ blocks: #2 AL& 591 83 (W7 28KBE ALE 3)
* soft, hard: 0 & A2 SHEE A|$H5IZR| Of=Ct= 2|o|

« = linux1 AFBAF= A|BHg10o] /dev/sdbl1 TtU A|AE(/mydata) AR 7H5

* inodes, soft, hard

* inodes: inodes?| 74

&\ 57|

root@server: ~

hard

M =XE EHet
W Uncut Text

» > FA linux1 AMEAF= 572 TtUE AFESID, & A[THSHR| gg=Ch= 2|0

&

inodes
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root@server: ~

ore(F) HE(E) =2I(v) BA(s) EHOIE(T)

GNU nano 2.9.3 tmp//EdP.aAjyth

Disk quotas for user linux1 (uid 1001)ﬂ
Filesystem blocks soft hard inodes
/dev/sdb1 28 15360 20480 5

e linux1 AFRRIQ| AML SHE AA ho|

su - linuxl

$ pwd

$ cp /boot/vm* testl
$ cp /boot/vm* test2
$ s -1

$ cp /boot/vm* test3
$1s -1

soft
0

linux1@server: ~

OHRI(F) ®E(E) =2I(v) ZM(S) HOIE(T) =SE(H)

root@server:~# su - linux1l
linuxi@server:~$ pwd

/mydata/linux1

linuxi@server:~$ cp /boot/vm* testl
linuxi@server:~$ cp /boot/vm* test2
linuxi@server:~$ 1ls -1

A 16700

-rw-r--r-- 1 linux1l linux1 8980 7E 20 22:48 examples
-rw-r--r-- 1 linux1 linux1 8543992 7# 20 23:24 test1
-rw-r--r-- 1 linux1 linux1 8543992 7# 20 23:24 test2

linuxi@server:~$ cp /boot/vm* test3

cp: 'test3'0] M= EF F WM ClA

linuxi@server:~$ 1ls -1

A 20464

-rw-r--r-- 1 linux1l linux1 8980
-rw-r--r-- 1 linux1l linux1 8543992
-rw-r--r-- 1 linuxl linux1l 8543992
-rw-r--r-- 1 linux1l linux1l 3854336
linuxi@server:~$

=l

20 22:48 examples
20 23:24 test1
20 23:24 test2
20 23:24 test3

.desktop

.desktop
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AgatollA| 37+ U A

o AFRZ}o||A| BHCtEl C|A S 27t &0

* linux1 AFERIOl|A| TRt C|A T Z7HekQ

* S quota

linux1@server: ~

oHe(F) HE(E) =22I1(v) BH(S) HOE(T) ==E(H)

linuxi@server:~$ quota

Disk quotas for user linuxl (uid 1001):
Filesystem | blocks quota limit grace files quota
/dev/sdb1l 20480* 15360 20480 6days 8 0
linuxi@server:~$

e limit = 20480: hard 7|& At2ak

* quota = 15360: soft 7|& Ar&%f

 grace: 3} £ (20480 — 15360)KB= 640t At27S = o|T 2HE

limit
0

At
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AgatollA| 37+ U A

+ AR ARSRS 2R

i [
* # repquota /mydata

« root Hsto 2 AlSHa}of St

M-

root@server: ~

OHA(F) ME(E) 27I1(v) BM(S) EHOE(T) =32(H)
linuxi@server:~$S exit

20

root@server:~# repquota /mydata

*** Report for user quotas on device /dev/sdbil

Block grace time: 7days; Inode grace time: 7days
Block limits File limits
soft hard grace used soft hard grace

20480 15360 20480
28 0 0




AgatollA| 37+ U A

+ ARG} 2H SUSHH| AL T

« linux1 AFERIQ| AFRFHE S linux2 AFG2tof|A| ghgf
e # edquota -p linuxl linux2
o AMRA[H ARREF 2HQ

i I

* # repquota /mydata

root@server: ~

oH(F) HE(E) =2I(v) BH(S) EHOlE(T) ==E(H)

root@server:~# edquota -p 1linuxl 1inux2

root@server:~# repquota /mydata
*** Report for user quotas on device /dev/sdbil

Block grace time: 7days; Inode grace time: 7days

Block limits File limits
used soft hard grace used soft hard grace

20480 15360 20480
28 15360 20480
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4. RAID



RAIDS| 7l{]

. §TB §3fo| ClA37} Wag of

« (1) 2TB* 27 + 4TB * 17§ vs (2) 8TB * 17

-+ (1) 2> Zfoj23 85 2aoR| =& C|ofs 2| Te

e Redundant Array of Inexpensive/Independent Disks (RAID)

- o o] E|A3F SHtHT AME 7ts
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RAIDS| 7l{]

« SIEQ|o{ RAID
. StEgo] H|Z YH7} ofzf FHe| ClA2E AT YH|E

. el

& 7t

Mo

-+ A2 dH2| 7= 2 7t

- HR 71 G A2 GAof| mf2f 22; 'ytdo] 4o

« AT EQo] RAID
» 171 StEQ)|of RAID| Chef
. 20dx||| Otoj|A| TLFE|o] C|AT Ma| AdH

. SEgjof RAIDS} Bl @] Al2pd, £& Sof 5t
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RAIDS| 2|

- RAID /g Al

 Linear RAID, RAID 0, RAID 1, RAID 2, RAID 3, RAID 4, RAID 5 +

Mo

« Linear RAID, RAID 0, RAID 1, RAID 5 2 Ar&

AK2ZE 1T(N) P L
. C|]AT 17§ ﬁ
Cl~3 1742 StLto) U o)

=E(FD)2E AE

NR2EOTIN)  AIBEEOTIN)  AKREE 1TIN/2)

« C|A3 27 OA « CIAT 271 OAt . CJAT 274 B e ou . e
54 HIRIE] XfE) e R A2 2T(IN-1)
« A HmRE HE « EA| KA « SA| KA
- OA3 I 71s TR EE . 248} 312 M2 . Eljf 1374 Ol
« AEDJ0|E HA . O[22 BHAl - 28 S NS 2 i

: f;ﬂflﬁl’gé ARS AI22E 2T(N-2
- SUS20| &S « C)AZ 47} O
* RAID 5& 7i
- 28 512 A3

- 5% IelE] MR AR
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RAIDS| 2|

_ Linear RAID RAID O
* Linear RAID
e 27H O|JAIO| C|AT E TILIO| EE2 0 2 AR gilopidiol Bt7HIAl
271 ol’ye| E|A3E Stte| EFE2Z A EEATES
.+ of C|A 30| Hlo|ElE SHHE| YTt ., Tk ClATol 1% —
-
o ‘GHlolFth|o[H|Z[HA[Z| 2 > T FRlof| 124 & 122 At 7HY el
* ff_l' Elﬁi—o—l i%*él 1000/0, o._l-;ﬂ N~
3
WTRI[EES
« RAID O
oo = el
e DECIAIE S Ao AR & 12HI0|E AIR & 12H0|E A8

o ‘Stelot7lh|o[H|7|L{A[2| R’ = FAlof| C|A 3 37HE AFRSIo] 40| 2A} 7t5 (striping BHAl)

« o2] 7lje| C|A T of| FA[of A5 Hit 6. (tS = 2AS CJAT =0 & HAE QI LA5H [
OIE] 2317 2J18 RAID RAHOZ Ugre 2e?
« WEE &0 but C|A3 SIHLIRF DALE 3| H|o|E & A @ RAID-0 @ RAID-1
® RAID-5 @ RAID-6




RAIDS| |t

RAID 1

0|2{& (mirroring) 7H3
EZH2 H|o|EE Zf C|A 3o %A}
27t 343 50%

T2 Hlo|HE AT [ol] MRt A

[ =

g0z Hgio|
HI7|HARI=

N

giloz o]
HI7|HA 2=

e

Z= 24HPE AR
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RAIDS]| 2|t

- RAID5
« RAID 02} RAID 12| EAIM &5t

+ ClATo| 2Bt HHAYSHH parity(T2IE]) Hlo|E{E 0| &5tod Hlo|ef £ 7ts

« mZ|E|: H|o|E{e] o5 A| H|o|E{e| S4 /&4 8L E HASt= 7|+
+ RAID 5= 2|4 37} o|Afe| c|AF7} Qlojof 4 7Hs (F2 57H o4} AH)
+ Hlo[E| 2Al A 88
NEEl= &M
sda sdb sdc sdd
R t mRE|Ro2
________ o o e L g
1 1 [] 1
0 [] 1 0
] 0 1 1
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RAIDS| 2|

+ 2t o] BAT} E|EE £ALE Y P W4 T2|E| AL

« 2| Kzl s4o| 0+0+0+P=RtL7} E|o{of GtE 2 P=(

« M| =Y Be| 0+P+1+0=Rf7} E|ofof StEE P=1

+ 47He| C|A3 3 BiLi7 DALLE THR|EIE o[ G5tod el Hlo|E] £ Tts

+ oL YEo| Het 51§ + MY 37 HEN A

2o - o
MEsls M

sda sdc sdd
,,,,,,,,,,,,,,,, i melElRo2
_______ o o e N sngue

1 ! 1

0 L] ‘ °

O 0 |
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RAIDS]| 2|t

* RAID 6

« RAID 5& Y& 7ljAi5to] 27H2| THz|E| AFR

« C|A3 107H2 495l RAID 57lol|M FAlof| 274 7} nAfcicid &2

» LHEARI X7] daz|Fo] 24, 35 (55)7 Bl

o =7fsiths

46



RAID 44 2H4 4

- n"?_lE SCSI0:0 /dev/sd
« SEE Qo] 14 w f j(oez*;??gxlg)

SCSI0

2TB  /dev/sdb Linear RAID

: /raidLinear
scsio2 | 3TB)
— 4B /dev/sdc
- /dev/sdd RAID 0
/dev/srO | e
et el § /fraidO
— — g /dev/sde (2TB)
‘ 1TB  /dev/sdf RAID 1
SCSI06 fraid1
— {TB  /dev/sdg (1TB)
Ng 271

1TB /dev/sdh

RAID 5
' 1R  /dev/sdi fraid5
2TB)

1TB  /dev/sd



RAID & 7 /3

« VMWareo||M E|AT 27}

Virtual Machine Settings X

Hardware QOptions

Device
EMemory

f:; Processors
| EHard Disk (SCST)

Summary
1GB

1

20 GB

E=New Hard Disk (SCST)
£=New Hard Disk (SCSI)
=) New Hard Disk (SCSI)
[=ANew Hard Disk (SCST)
EANew Hard Disk (SCST)
=) New Hard Disk (SCSI)
£=\New Hard Disk (SCSI)
=) New Hard Disk (SCSI)

x| olg ClA3 37| o o|g H|
SCSI 0:1 2GB N

Linear RAID
SCSI 02 1GB =
SCSI 03 1GB NS

RAID O
SCSI 04 1GB =
SCSI 05 1GB NS

RAID 1
SCSI 06 1GB =
SCSI 07 ARREH 4 S(VMwareOf|A] GlIFEIo] 212)
SCSI 08 1GB NS
SCSI 09 1GB NS RAID 5
SCSI 0:10 1GB N =

[ANew Hard Disk (SCST)

2GB
1GB
1GB
1GB
1GB
1GB
1GB
1GB
1GB

Disk file

| Server-9.vmdk

Capacity

Current size: 192KB
System free: 122.8 GB
Maximum size: 1GB

Disk information

Disk space is not preallocated for this hard disk.

Hard disk contents are stored in a single file.

Disk utilities
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=== N=N=N=N==N=]

e # 1s -1 /dev/sd*

root@server: ~

oHel(F) HE(E) E2I(v) BH(s) EHOoIE(T) =52 (H)

root@server:~# ls -1 /dev/sd*

brw-rw---- 1 root disk 8, 0 H 21 10:59 Jdev/sda
brw- root disk 8, 1 = 21 10:59 Jdev/sda1l
brw-rw---- root disk 8, 16 - 10:59 /Jdev/sdb
brw-rw---- root disk 32 E 21 10:59 /dev/sdc
brw-rw---- root disk 48 S 21 10:59 Jdev/sdd
brw-rw---- root disk 64 S 21 10:59 Jdev/sde
brw-rw---- root disk 80 5 21 10:59 Jdev/sdf
brw-rw---- root disk 96 = 21 10:59 [dev/sdg
brw-rw---- root disk 21 10:59 /dev/sdh
brw-rw---- root disk 21 10:59 /dev/sdi
brw-rw---- root disk 21 10:59 /dev/sdj
root@server:~#

-

P b e b e b e e e
CO CO GO 0O 00 00 0

- - - - - - -




root@server: ~

RAID }g% $_|'7é| q—*&l oHel(F) ®E(E) 22I(v) BA(S) HOIE(T) =32(H)

root@server:~# fdisk /dev/sdb

~sklabel with., ' _«entifier OXie.

8 TFE|Al AHAT
* RAIDO |-E| Iil (o) Command (m for help): n
Partition type

- p primary (0 primary, 0 extended, 4 free)
° /deV/Sdb ;8'1|°" /deV/Sdb1 I[l'Ell\:l "g*{,‘ e extended (container for logical partitions)
Select (default p): p
Partition number (1-4, default 1): 1

e # fdisk /dev/sdb First sector (2048-4194303, default 2048):
Last sector, +sectors or +size{K,M,G,T,P} (2048-4194303, default 4194303):

HicC o ol E Z: Created a new partition 1 of type 'Linux' and of size 2 GiB.
« Hoo| oY A[AE 2|

Command (m for help): t

Selected partition 1

* fd (Linux I’ald autOdeteCt) Hex code (type L to list all codes): fd

Changed type of partition 'Linux' to 'Linux raid autodetect'.

. Command (m for help): p
# fdisk /dev/sdb Disk /dev/sdb: 2 GiB, 2147483648 bytes, 4194304 sectors
G gctors of 1 *

Command: n
Select: p Device Boot Start End Sectors Size Id Type
Partition number: 1 /dev/sdb1 2048 4194303 4192256 2G fd Linux raid autodetect
: ~ Command (m for help): w
+ |Ent
First sector The partition table has been altered.
Last sector: Calling iloctl() to re-read partition table.
Syncing disks.
Command: t
Hex code: fd
Command: p
Command: w
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RAID & 7 /3

« RAIDE TE|A A4A] (RHE)
« [dev/sdc ~ [dev/sdj Zx[of| /dev/sdb1 ~ [dev/sdj1 TtE[A AHA]
e # fdisk /dev/sdb ~ # fdisk /dev/sd]

» HEO| ;Y AARY 2H

 fd (Linux raid autodetect)

root@server: ~

o I}E|M Elo] oU(F) () 22I(v) BA(S) HOIE(T) =SL(H)
root@server:~# 1ls /dev/sd*

Jdev/sda /dev/sdbl [dev/sdd Jdev/sdel [dev/sdg Jdev/sdhl [dev/sd]j

* # 1s /dev/sd* /dev/sdal1 /dev/sdc /dev/sdd1 /dev/sdf

Jdev/sdgl [dev/sdi Jdev/sdij1

Jdev/sdb /dev‘sdc1 Jdev/sde Jdev/sdf1 [dev/sdh Jdev/sdi1l

root@server:~#

« RAID a4 m{7|2| A%

* # apt-get -y install mdadm
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Al
=

A 2 i (

« VMWare 7}
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Linear RAID ++&

Hx2] =

SCSI 01

/dev/sdb1
(/dev/sdb) |inux raid autodetect

SCSI 02

/dev/sdc1
(/dev/sdc) | inux raid autodetect

Jetc/fstabOf| :
== ; /raidLinear

(=1

/dev/md9
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Linear RAID ++&

. yixfa] 2py
« [dev/sdb, [dev/sdc TIE[4T AFEH &2l
e # fdisk -1 /dev/sdb ; fdisk -1 /dev/sdc

root@server: ~

oH(F) HWE(E) =271(v) BAM(S) EHOIE(T) =SE(H)

root@server:~# fdisk -1 /dev/sdb ; fdisk -1 /dev/sdc
Disk /dev/sdb: 2 GiB, 2147483648 bytes, 4194304 sectors
Unite: sectors of 1 * 512.= 512 bytes

Bisk identa, (logicald9345d3 ™= 512 byte g

Device Boot Start End Sectors Size Id Type
/dev/sdb1l 2048 4194303 4192256 2G fd Linux raid autodetect
Dis ev/sdc: 1 G1B, 1073741824 bytes, 2097152 sectors
Units: sectors of 1 * 512 = 512 bytes
: : res : 512 bytes
Device Boot Start End Sectors Size Id Type
/dev/sdc1 2048 2097151 2095104 1023M fd Linux raid autodetect

root@server:~#




Linear RAID L&

« RAID & (mdadm Z8&)

e [dev/sdbl11} /dev/sdc12 Linear RAID x|l /dev/md9= AlA]

mdadm --create /dev/md9 --level=linear --raid-devices=2 /dev/sdbl /dev/sdcl
mdadm --detail --scan

root@server: ~

oHel(F) HE(E) 22I(v) BM(S) HOIE(T) =SE(H)

root@server:~# mdadm --create /dev/md9 --level=1linear --raid-devices=2
/dev/sdb1 /dev/sdc1
mdadm: Defaulting to version 1.2 metadata

mdadm: array /dev/md9 started.

root@server:~#

root@server:~# mdadm --detail --scan

ARRAY /dev/md9 metadata=1.2 name=server:9 UUID=0acdc410:fdcaee31:645b934b:2a0c25
05

root@server:~#

« [dev/md9 ZIE[A Z2Fz|9] m{Q A|AE] AHA

e # mkfs.extd4d /dev/md9



Linear RAID ++&

o O}

. Zlo]
|

O E

L

° []r{%:gii?F

e # mkdir /raidlLinear

. Ol E

e # mount /dev/md9 /raidlLinear

# df -h

. 215 0t2E 52

/dev/md9

/raidlLinear ext4

defaults

0

0

2k C[A E2] A/ (EIZE2|5: [raidLinear)

root@server: ~

ote(F) HE(E) 271(V)

root@server:~# mount
root@server:~# df
Filesystem 1K-blocks Used Available Use%
udev 460944 0 460944 0%
tmpfs 98492 1484 97008 2%
/dev/sda1l 20509264_6162288 13282120 32% /
] 24 o0veR 4
35456 35456 0O
98488 24 98464
3026704 9216 2844024

#4(s) HolIg(T) =SE(H)

/dev/md9 /raidLinear

/dev/loop15
tmpfs

/dev/md9
root@server:~#

# J/etc/fstab: static file system information.

u’::R:T;;'dJ to print

# |/ was on /dev,,uuL durlng lnStallatIOn
UUID=ab20eecb-b051-4aef-9dd5-ca6ea5393b39 / ext4
/swapfile none swap

Mounted on
/dev
J/run

'165;‘7§RKL~2;E
100% /snap/g
1% /run/user /0

1% /raidLinear

XZ(S)

errors=remount-ro 0
SW 0

H LH|:8 » 128,18

mmon-themes /818




Linear RAID ++&

« Z25t Linear RAID &7l

e # mdadm —-detail /dev/md9

root@server: ~

IA(F) HE(E) E2I(v) BA(S) EHOIE(T) =32(H)
root@server:~# mdadm --detail /dev/md9

/dev/md9:
Version

Creation Time :

Array Size :

Raid Devices

Events

Number Major

8

17
Sun Jul 21 11:49:09 2019

3141632 (3.00 GiB 3.22 GB)
2

Superblock is persistent

ver:9

¥ Pacdc410:fdcaee3 T 645b934b:2a0c2505
: 0

Minor RaildDevice State
17 0 active sync
33 1 active sync

/dev/sdb1l
/dev/sdc1
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RAID 0 L=

=1 -
. TEPE Y3 2

e # mkdi

# mdadm —--create /dev/md0

RAID 0 4F%| 4443 (/dev/md0)

——level=0

=» # mdadm --detail --scan

r /raid0

e # mount /dev/md0 /raidO

=5t RAID

0 2ol

# mdadm --detail /dev/mdO

——raid-devices=2 /dev/sddl /dev/sdel
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End of slide



